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b) f e

c) × ,= - 3 , X i 2



3 . a) f-m i n = - 4

b I f

!

F

c ) X,=-4, X j 2

µ

(positiv ×? t e r m ⇒ minimum)

X .= - t , X ,= 3"i÷÷÷.
d)
X,=-4,x

!

q x

!
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5 . a l f

#

=

o ⇒ X2-3×-10=0

*
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H I T- - ¥

× , = - 2 , X , = 5

Symmetrins
e k v a t i o n : X=

!!

I

-

b) g

#

=

o ⇒ 3×73×-18=0

31×4×-61=0

x . -t±

$

¥=-I I
X ,= -3 ,X

Symmetrilinjens ekvation:*

!"

? -I

-



Nollställen: x .= - 5 , 4 = 3 ⇒" i

! !

Symmetrilinjen: × =

"!

= -I

Minvärdet = gl-il-4.tt-311-1+51=64

7 . (0, -8 ) ⇒ ( = - 8

(2 ,0 ) ⇒ 14A+ 2 b - 8 = 0

( I ,-5) ⇒ l a + b - g = - g
⇒ 549+26=8

2 9 = 2

a --1 , 6=2

! ! !!
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2 × + 4 = 3 0

A- = X Y = × (30-2×1=30×-2×2

Nollställen:X,:O, X . = 1 5 ⇒

symmetrilinjen: × =

!!

2=7 .5

× = 7 . 5 ⇒ y = 3 0 - 2 . 7. 5 = 1 5

"÷i÷

!

÷÷.

9 . a ) f e l = ( x + fi-¥-17 ⇒ I = 4 ⇒ b = 8

b) × ' t 8 × + 7 = 0 ⇒ (×-1711×+11=0 ⇒ X.=-7,4=-1

c )



10. a ) 5/501=0.006.5040.3.50 = 3

b) S M = 5 0 ⇒ 0.006 V"-10.3N = 5 0

0 . 0 0 6 (v?-150 v-8333) = 0

va-
e25cIV625-8333-
tn-7okmll.GE#mger:
a) f-t i ) = l 3

b ) f m i n =

!

L

c) Nollställen saknas



1 2 .

⇒ Nej, vidp-9.fr. 4 7 k r b l i r anta le t negativt

* k = 9 . 7 o

! !

* VM.pl = (p-9.70) n - 4 5

4ps = (p-9.to) 198-2. I pl-45 =

= - 2 . I pH 118.4p-140.1 = - 2 . 1 (ph-56.4p-166.7) ⇒

Symmetril injen: p =

!"

a. 2 8 h L

-


